LEWKNOR C of E PRIMARY SCHOOL

Year 384

0 a 1aAeid 3 Aiojs
M. J19heud 19heud J9Aeld m ISwiry uap|oD
= B Aols 3 A0S ghioys | 25 o
€53 <
; gEg =
5 w w25 o
o <9 o
= S =
Q o 2z
= o
]
1%
uj S 2
-
(=]
hed
A
I %
n
[
= © 2 2 [ .w
) (3] (3] o *
- o - 1) 7] - o
7}
1 n
S g buipeay 5 Buipeay buipeay Huipeay
ks paping | Y paping paping paping
youn SO'¢Ct
o
o
S = = =
1 7] 7] 7]
7] = = = = =
s |5 : 2 2 Z
= = = L (I} w
Jjeald S¥'0T — 0€°0T
S g
S |E £
: = £ = = <
(=4 [] - = = =
~M Q. W [} ] ]
o (1) (7} = = =
g diysiom syien sylen syien diysiom
- 9A1I9||0D papino paping papino 9ANDI]|0D
1 o
M M uoneysibay uone.ysibay uone.sibay uone.}sibay uonessibay

Aepuopy

Aepsan)

Aepsaupom

Aepsinyy

Aepuy




